HE4%V:

RANGLISTE MITGLIEDER +

SBUBEN
- KASSEL

(MITGLIEDER MIND. 36% GESPIELTE SERIEN)

11. SPIELABEND AM 07.02.20

DI. 04. FEBRUAR FR. 07. FEBRUAR GESPIELTE SERIEN VERL
RANG NAME SCHNITT| + /- || GEW | VERL

1.SER.| 2. SER.| GES. || 1.SER.|2.SER.| GES. Al vV % GEG

= |LOHSE, MI. 1.477 | 1.444 2 2 1.461 11,5( 1,0 | 7,5

= |RUHKAMP 1.476 | 749 2 4 1.229 15,5 3,3 | 3,0

1 [ = |[BAUCKLOH, A. 663 1.378 | 891 2 |19 | 87% | 1.153 | -2 |J11,6| 16 | 6,4

= |KURING 12 | 6 1.047 11,0 1,5 | 6,3

2 | = |HONAUER 2 | 14 | 65% | 1.038 11,7 | 2,6 | 6,3

3 [ = [mauL 1.123 | 1.112 12 | 16 | 79% | 1.029 | +12 |J11,6| 2,3 | 5,4

4 |= 948 1.213 0 8 | 36%| 1.022 | +28 J|10,9( 1,3 | 5,1

5 (1 |BAUCKLOH, W. || 1.057 897 | 718 2 |19 | 87% | 930 15 |1 85 | 1,1 | 6,6

6 | |BREITFELD 668 693 2 | 10 | a6% | 926 -26 ||10,4| 2,6 | 4,9

7 {1 |JEWERT, w. 810 |1.233 2 |16 | 74a% | 925 9,3 (1,7 |57

8 [V |KEIm 577 |1.184 1.083 | 676 2 |16 | 74%| 921 5 |183 |11 |51

9 (J |POTTER 577 | 648 517 2 | 16 | 74% | 900 -26 || 9,8 |23 |54

10 |1 |IBRAUNHAHN 12 | 15 | 74% | 897 11,1 3,1 | 4,7

11 |1 |DELLITH 884 622 |1.372 0 |16 | 73%| 894 | +15 |J9,6 |18 | 46

12 |\ |KUDERLING 1.203 | 623 356 | 835 19 | 88% | 887 -35 |85 |15 |50

13 | |SKWARSKI 1.488 | 1.061 1.467 12 | 15 | 74% | 849 | +44 |99 |27 |55

14 |\ |GESSNER 10 | 46% | 845 9,3 | 1,7 | 4,2

J V. ROOS 811 10,5( 3,5 | 5,5

15 | = |WINTER 1.118 | 541 766 | 1.127 10 46% | 807 | +39 Q|91 |20 |48

16 | = |GANTE 908 | 607 647 | 682 10 | 21 |100%| 756 10 |1 99 [ 3,2 |55

= |KOSSINGER 528 12 | 3 754 7,7 | 2,3 | 6,0

17 | = |EWERT, UWE 474 | 286 16 | 74% | 692 6,8 |15 | 6,6

18 | = |BLAUERT, A. 88 266 | 436 17 | 78% | 620 36 |l61 |17 |51

= pust 14 523 6,5 | 2,0 | 4,5

= |PORTER 2 6 448 7,2 |35 |38

= |GRECIC 731 | 868 - 8 | 36%| 895 71 )08 |73

= |WIESER - | 4 |18%| 856 85 |20 |53

= |DILCHER - | 4 |18%| 789 7,8 | 1,5 | 4,5

= [REITZE, A. - 2 | 9% | 787 7,5 |15 |35

= |REITZE, R. 1.046 | 1.179 - 8 |36%| 719 |+131|l76 |19 |46

= |APPELBAUM - 1 | 5% | 289 50 | 4,0 |90

= |KAUFMANN - 1 | 5% | 173 6,0 | 40 | 2,0

DURCHSCHNITT | 840 91 (21|53




